EAST FRANKLIN TOWNSHIP BOARD OF SUPERVISORS REGULAR MEETING MARCH 30, 2023, AT 6:00 PM

1. CALL TO ORDER AND PLEDGE OF ALLEGIANCE

2. PRESENT:

Barry Peters, Chairman

Dan Goldinger, Vice Chairman David Stewart, Supervisor

Debra Cornman, Secretary/Treasurer Larry Richardson, Zoning Officer

Update: Intersection of State Route 422 and Glade Run Road.

3. PUBLIC COMMENT:

- 1. Sara Southworth Resident Fox Hollow
- 2. Spurgeon Shilling
- 3.
- 4.

4. APPROVALS:

A. BIDS – SINGLE SEAL COAT/FOG SEAL/JOINT & CRACK SEALING:

COMPANY	TOTAL BID
Russell Standard Corp.	\$244,332.07
Youngblood Paving Inc.	\$286,545.64

B. BIDS - AGGREGATE:

See Attached Spreadsheet:

AGENDA - REGULAR MEETING - MARCH 30, 2023:

4. APPROVALS (CONTINUED):

C. MINUTES:

Approve minutes for regular meeting February 23, 2023.

D. APPROVE BILLS AND INVOICES:

Approve to pay all bills and invoices for February 24 through March 30, 2023.

E. POLICE REPORT:

Approve Police Report for February 24 through March 30, 2023.

F. ROAD MASTER REPORT:

Approve Road Master Report for February 24 through March 30, 2023.

G. ZONING OFFICER REPORT:

Approve Zoning Officer Report for February 24 through March 30, 2023.

H. SEWAGE REPORT:

Approve Sewage Report for February 24 through March 30, 2023.

I. SUPERVISOR'S MEETING CHANGE:

Approve to change Supervisor's meeting from April 27 to April 20, 2023 at 6:00 p.m.

5. AUTHORIZATIONS:

1.

2.

6. NEW BUSINESS:

1.

2.

AGENDA - REGULAR MEETING - MARCH 30, 2023:

7. ADJOURNMENT:

Trash Week – Thursday, May 4 through Friday, May 5, 2023 from 7 a.m. to 7 p.m.

EAST FRANKLIN TOWNSHIP AGGREGATE - BIDS MARCH 27, 2023

		ALLEGHENY MINERAL CORP.	ALLEGHENY MINERAL CORP.	BUFFALO LIMESTONE INC	BUFFALO LIMESTONE INC BUFFALO LIMESTONE INC
DESCRIPTION	TONS	UNIT PRICE DELIVERED TO JOB SITE/TWP BLDG	TOTAL	UNIT PRICE DELIVERED TO JOB SITE/TWP BLDG	TOTAL
PA-2A SUBBASE	1,500	\$19.60	\$29,400.00	\$20.00	\$30,000.00
AASHTO#1	20	\$22.60	\$1,130.00	\$20.80	\$1,040.00
AASHTO#10	400	\$18.30	\$7,320.00	\$16.50	\$6,600.00
AASHTO #57	50	\$22.30	\$1,115.00	\$21.35	\$1,067.50
R5 RIP-RAP	50	\$34.80	\$1,740.00	\$27.00	\$1,350.00
AASHTO#3	50	\$22.30	\$1,115.00	\$20.80	\$1,040.00
Line and the Anti-	GRAND	GRAND TOTAL	\$41,820.00		\$41,097.50